
Comments about exercise set 2, problem 3

Comments about exercise set 2, problem 4

TPG 4230 Page 127 20170303, M Stanko



TPG 4230 Page 128 20170303, M Stanko



TPG 4230 Page 129 20170303, M Stanko



This initial setup of the solver, although sounds logical, gives VALUE! errors problems and doesn't converge. some of the bottomhole 
pressures tried give a negative number inside the square root. Maybe it is related with the shape of the function:
! Investigate this issue more in detail in the assignment!

An alternative approach is suggested, "Manual solution", analyzing and converging 
this problem separatedly:

provide pav at the towhead, and take out the field rate constraint out of the solver 
setting. Run for several values of pav at the towhead to find the one that gives exact
09E06 Sm^3/d
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One way of solving the problem is to fix the rates in the system, 6.4 E06 Sm^3/d for template L, 2.6E06 Sm^3/d for 
template M and 9E06 Sm^3/d for the pipeline. Calculations are performed in the following way:
-Counter current calculation in pipeline from separator to compressor discharge.
-Co current calculations in template M from reservoir to suction of the compressor. Template M is NOT choked, thus w
can perform calculations without problems.
-The DP of the choke in wells of template L is unknown. So, co-current calculations have to be carried from reservoir t
wellhead, to find pressure upstream the choke and counter current calculations from the compressor suction (towhead
the template (downstream the choke) the difference in pressure is the choke pressure drop.

counter-currentCo-current

Co-current

Counter-current

DP choke = 
pwh-ptemp
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